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ofd 430 504 35.6 309 75 3.9 7.7 3.2 94 1.9

20CH =X} 81 93 20.6 51.4 2.9 12.7 - - 10.7 1.6

20CH of X} 59 84 41.9 10.6 20.6 2.5 46 6.2 10.9 2.8

30CH X} 82 82 36.3 33.0 3.5 11.9 5.9 1.2 7.1 1.0

30CH O Xt 62 76 50.7 12.2 85 - 7.0 1.5 20.1 -

o215 40CH =X} 128 95 39.4 24.1 4.1 44 7.6 3.7 14.0 2.7
40CH of X} 79 92 457 20.0 7.4 2.2 10.5 2.0 11.5 0.8

50CH ‘Xt 142 98 420 28.8 3.5 49 8.2 3.2 8.8 0.6

50CHof Xt R 96 30.3 36.3 34 8.6 11.2 4.0 3.9 2.2

60M| 0| & X} 197 128 303 39.2 2.4 10.2 8.1 2.4 6.4 1.1

60| 0] & O} 138 156 22.1 53.8 2.5 47 5.7 2.6 5.7 2.8

ME 247 190 36.3 31.0 47 5.7 9.1 2.4 10.0 0.7

471/ 329 313 38.1 32.9 42 6.1 42 2.8 9.8 2.0

/S H/ME 0 106 24.6 39.2 7.2 5.9 8.2 - 12.5 2.5

X Z/HAF 54 43 273 36.5 1.3 9.2 23 34 15.3 47
Fi/gi/dd 146 152 32.1 35.9 5.9 9.8 6.9 3.0 6.1 04

/3= 9% 98 28.6 40.7 3.1 6.0 4.1 4.1 11.3 2.1

He/2F:/M5 98 98 433 18.7 11.8 27 14.6 36 37 1.5



